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Instructions for the Candidates
Write your roll number in the space provided on the top of this
page.
This paper consists of fifty (50) multiple-choice-type of questions.
All questions are compulsory.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the paper
seal/ polythene bag on the booklet. Do not accept a booklet
without sticker-seal/without polythene bag and do not
accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing or
duplicate or not in serial order or any other discrepancy
should be got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.
After this verification is over, the Test Booklet Number should
be entered on the OMR Sheet and the OMR Sheet Number
should be entered on this Test Booklet.

The Series of this booklet is (Q, make sure that the Series
printed on OMR Sheet is same as that on this booklet. In case
of discrepancy in Series, the candidate should immediately
report the matter to the Invigilator for replacement of the
Test Booklet/ OMR Sheet.

Each item has four alternative responses marked (1), (2), (3) and
(4). You have to darken the circle as indicated below on the correct
response against each item.

Example: (D) @) @ (@ where (3) is the correct response.
Your responses to the items are to be indicated in the OMR Sheet
given inside the Booklet only. If you mark your response at any
place other than in the circle in the OMR Sheet, it will not be
evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put any
mark on any part of the OMR Sheet, except for the space allotted
for the relevant entries, which may disclose your identity, or use
abusive language or employ any other unfair means, such as change
of response by scratching or using white fluid, you will render
yourself liable to disqualification.

You have to return the original OMR Sheet to the invigilators at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are however, allowed to
carry original question booklet.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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PAPER -1

Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All

questions are compulsory.
50 Q x 2 M = 100 Marks

The table below embodies data on the production, exports and per capita consumption of rice
in country P for the five years from 2012 to 2016. Answer questions 1 - 5 based on the data
contained in the table.

Year-wise Production, Exports and Per Capita Consumption of Rice

Year Production Exports Per Capita Consumption
(in million kg) (in million kg) (in kg)

2012 186.5 114 36.25

2013 202 114 35.2

2014 238 130 38.7

2015 221 116 40.5

2016 215 88 42

Where, Per Capita Consumption= (Consumption in million kg)+ (Population in million)
and consumption (in million kg)=Production — Exports.

1.  What is the average consumption of rice (in million kg) over the years 2012-2016 ?
(1) 1021 (2) 108 (3) 100.1 (4) 104

2. What is the population of the country in the year 2014 (in million) ?

(1 272 2y 279 (3) 2.85 (4) 2.64
3.  The ratio of exports to consumption in the given period was the highest in the year :
(1) 2013 (2) 2014 (3) 2015 (4) 2012
4.  The percentage increase in the consumption of rice over the previous year was the highest in
which year ?
(1) 2014 (2) 2015 (3) 2016 (4) 2013

5.  In which year, the population of country was the highest ?
(1) 2014 2015 (3) 2016 (4) 2013

(2)
cwos [[IITTNMNINNINIHT -



WT-Ua -1

e U UE-UF H Ue (50) 8- fashedd U9 €1 T U % S (2) 3k €1 |l we 3ifrard €
50 U9 x 2 3 = 100 3k

freifera atferert ® fordt Q9T P o foIw wiwr asit 2012 | 2016 ek oG & S, Haia iR wfq
e STURT & o | NS WRITehd &1 3H dlfetehT W 9T 71T 2A{eREl oh MR W U9 G&AT 1 - 5
T T

T 1 FY-aR Ieared, A IR ufa safad susim
- IR ERIG] gfa =Afa TR
(Thferem framm #) | (Taferem foramm #) (fretmm #)
2012 186.5 114 36.25
2013 202 114 35.2
2014 238 130 38.7
2015 221 116 40.5
2016 215 88 42

e, gfa e sudim=(Sudm fafeem feaum ) « (Sgen fafaem ) ek sgum
(Tafe=m fremum &) =SaeT— i, § :

1. 99 2012-2016 st 376y H =add 1 9d 3q4m (fafaem fam) fram 22
(1) 102.1 (2) 108 (3) 100.1 (4) 104

2. 992014 § 9 &I SEen (fafaaw #) foeat ot ?
1) 272 2) 279 (3) 2.85 @) 2.64

3. form od %t srafy § frafa oIk sl 1 o1gura Haffeen o ?
(1) 2013 (2) 2014 (3) 2015 (4) 2012

4. Tog ¥ o frod a4 & o § FEd & STHM H Faityes giawd & ghe g8 2
(1) 2014 (2) 2015 (3) 2016 (4) 2013

5. <9 ! SEEA g a9 | Haifier ot ?
(1) 2014 (2) 2015 3) 2016 (4) 2013

coos [{IIMININNININT



10.

oanans

Put the following units of storage into the correct order, starting with the smallest unit first
and going down to the largest unit :

(a) Kilobyte (b) Byte () Megabyte

(d) Terabyte (e) Gigabyte (f) Bit

Give your answer from the following code :

Q) ® b, @ @, @) © @ ® b, @ ©, @ @

@) © 0) @ @), © @ @ ® 0) @ © @, (@

Which of the following is considered as major source of pollution in rivers of India ?
(1) Untreated sewage (2) Agricultural run-off

(3) Thermal power plants (4) Unregulated small scale industry

Given the following email fields, which of the email addresses will ‘swami” be able to see
when he receives the message ?

To... ram@test.com

Cc... | raj@test.com; ravi@test.com

Becc... | swami@test.com; rama@test.com

(1) ram@test.com; raj@test.com; ravi@test.com

(2) ram@test.com; rama@test.com

(3) ram@test.com; rama@test.com; raj@test.com; ravi@test.com
(4) ram@test.com

Assertion (A) : Indoor air pollution is a serious health hazard.

Reason (R) : The dispersal of air pollutants is rather limited in indoor environment.
Choose the correct answer from the code given below :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true and (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

Prime Minister Research Fellowship is for students pursuing Ph.D programme in :
(1) Central Universities, IISc, IITs, NITs, IISERs and IIITs

(2) 1IISc, IITs, NITs, IISERs, IIITs, State and Central Universities
(3) ITs and IISc
(4) State and Central Universities

[



10.

ferul i fr=fafed seeal &l 92t %A | ay, SoH 18d T9aq 3ok 9 IRFY H3d g arHad
THTS ! SR Feld ST

(a) fopeframse (b) @z (c) g

(d) <EmEe (e) TimamEE ¢ foe

1) (®), (), (@), (d), (e), (c) (2) (), (b), (@), (9), (o), (d)
3 () (b) (@) (d), () () @) (®, ®) @) (9 (@) (e

R i Afeal § F=farad § § forden! YU 1 Y@ &id JH= S § 2
(1) Ffya anfeaaa 2) Faw
(3) g foga = (4) sifafafha @9 @ s

frefafed s9a weed § 9 W’ 1 Hew fHe W 98 i § 9 Tdi Sl S Hehl ?

To... | W@ &M

Ce... | @R FM; fa@I= HH
Bec... | @M@ &hH; THIQIR. &Y
(1) TH@IR.FE; TI@IR. HF; (M@= HiH
(2) TH@IE.FHH; TN@TE. A

(3) THQIE.SHIA; THIQTE. hHH; TH@IE. HiH; (@I A
(4) TH@IR.HH

AR (A) :  3Fd: g U WA & forw T TR waw ¥

e (R) : 3{q: TAiaRe H 9rg YUl i fagsi Teshd Hifid g ¥
== ST 7T e ¥ 9§ WE W & A

(1) (A) Td (R) S 9@ ¥, @A (R), (A) T T =080 =& 2|

2) (A) E& T i (R) 7Terd B

3) (A) 3R (R) I Temd

(4) (A) W (R) SHI T&l € 3R (R), (A) F F& =AM 7

UM H WY e Fefated § § feed dua 2l rEima & a9 86 6 fad § 2

(1) w=ra fovafgeme™, o, o e ., o o1 .31, TH.eTE 3T, 3T, oTE. Ta.3.3TR. 3R
S 3778, 311821,

(2) OTE.STE.TH.HL., 3TE.3TR.31., TSR3, oTE.oTE.TH.E.3TR,, oTR.3TE.3TR.31., Tod iR hsd
[ELEIEEISE]

(3) ... TR 1S, 3TE. TH. .

T 3R h=a favafaamem

Qwors ||H|\||IHIH\II\H\IIH\||||HH||H|!|||!|||\H|||!||\H||H!||H\||II\ ;



11.

12.

13.

14.

15.

oanans

In terms of their contribution to the total power generation in India, identify the correct
sequence of energy sources - Thermal Power Plants (TPP), Large Hydropower Projects (LHP),
Nuclear Energy (NE) and Renewable Energy (RE) which includes solar energy, wind energy,
biomass and small hydropower projects.

(1) TPP>LHP>RE >NE (2) LHP>TPP>RE >NE
(3) LHP>TPP>NE>RE (4) TPP>RE>LHP>NE

Which of the following statements are correct about gender budgeting ?
(a) Itis a separate budget addressing the specific needs of women.

(b) It assesses the impact of government budget on women.

(c) It is an accounting exercise.

(d) It is another budgeting innovation.

Select the correct answer from the code given below :

(1) (a) and (d) only (2) (a), (c) and (d) only

(3) (b), (c) and (d) only (4) (b) and (d) only

A new Laptop has been produced that weighs less, is smaller and uses less power than
previous Laptop models.

Which of the following technologies has been used to accomplish this ?
(1) Faster Random Access Memory (2) Blu Ray Drive
(3) Solid State Hard Drive (4) Universal Serial Bus Mouse

Leader of the Opposition is a member of committees which select :
(a) the Central Information Commissioner

(b) the Central Vigilance Commissioner

(c) the Chairperson of National Human Rights Commission

(d) the Chairperson of National Commission for Women

Select the correct answer from the code given below :

(1) (a), (b) and (c) only (2) (a), (c) and (d) only
(3) (@), (b) and (d) only 4) (@), (), (©) and (d)

Which of the following types of natural disasters has no definite beginning and end ?
(1) Landslides Hurricanes (3) Droughts (4) Earthquakes

AU HH|||||H|!|“||\||\!||!||||“||H|||H|| :




11.

12.

13.

14.

15.

T § e foreld IcU1eH | 37k INGH o qRU%A H o1l Slidi oh Hal shH hi GgaT hifSIq : a7 fo=]d
93 (TPP), faenel s/ faga afEismmd (LHP), TA] St (NE) 3R &l e (RE), 5o )
Stt, aTg St St W 3R oty Wi foga ufkesd aftmferd €1

(1) TPP>LHP>RE>NE (2) LHP>TPP>RE >NE

(3) LHP>TPP > NE > RE (4) TPP>RE>LHP>NE

St SIS & aR H ffafed § & s wud 9@ 2

(a) T T T I &, forom ufeenesii =t fafire stawasdei R == feon S 7
(b) SHH AfEEsll W TRER & dSIC o Y& Fl Jodiohd (hal ST & |

() IE T wrary & ¥

(d) ¥E T 3R Feifen-Tarae 7

% faT MU e H T WE IR F A -
(1) e (a) 3R (d) (2) I (a), (o) AR (d)
(3) e (b), (o) 3R (d) (4) = (b) ¥R (d)

Teh U A9erq 1 fufor foman 7en B, fSgert R 0 ® IR siftrer o1y § qen o1 gead! Ateed &t
qT | 7 ferTell <Rl ST 8iaT § |

THe! oM # frefafad o § fora Uit s saam foan T 2 2
(1) TR el TRY JER (2) =YITEA
(3) dHifee w2 7 gra 4) Fftada Sfea s Asa

foraey =1 a1 37 WAl &1 Tk Haw B 8, S = A €
(a) hST I ST HT

(b) H=IT Hshdl ST

(c) TS AMa SAYRR TR o TL&

(d) U HAfgeT SR % ALY H

% faT T e H T WE IR F A -
(1) e (a), (b) 3 (c) (2) I (a), (o) AR (d)
(3) A (a), (b) 3R (d) @) (@), (), () IR (d)

TThfaen foaered & ffafad yeri § 9 fhgen ffvea urey oiR ofq =& g § 2
1) EEeH ) 9¥sE (BOHT)  (3) g 4) 9FH

cwos [I1FINMIINNNNNT -



16.

17.

18.

19.

20.

‘Fly ash” produced in thermal power plants is an ecofriendly resource for use in :
(a) agriculture as micro-nutrient

(b) wasteland development

(c) dam and water holding structures

(d) brick industry

Choose the correct answer from the code given below :

(1) (b), (c) and (d) only (2) (a), (c) and (d) only

(3) (@) (), ) and (d) (4)  (a), (b) and (d) only

Which of the following are the barriers to citizen-centric administration in India ?
(a) Wooden and inflexible attitude of the civil servants

(b) Inetfective implementation of laws and rules

(c) Awareness of rights and duties of citizens

(d) Lack of job opportunities for the youth

Select the correct answer from the code given below :

(1) (a), (b) and (c) only (2) (a), (b) and (d) only

(3) (a) and (b) only (4) (@), (), (©) and (d)

India has the largest Higher Education System in the World after :
(a) The United States of America (b) Australia

(c) China (d) United Kingdom (U.K\)
Select the correct answer from the code given below :

(1) (a), (b) and (c) only (2) (@), (c) and (d) only

(3)  (a) and (c) only (4) (@), (b), () and (d)

With regard to computer memory, which of the following statement(s) is/are TRUE ?
P: Read Only Memory (ROM) is “volatile’ memory.

Q: Random Access Memory (RAM) is ‘volatile’ memory.

R: Secondary Memory is ‘volatile” memory.

(1) Qonly (2) PandQonly (3) P andR only (4) Ponly

Which of the following statements, regarding the term ICT is/are TRUE ?
P: ICT is an acronym that stands for Indian Classical Technology.

Q: Converging technologies that exemplify ICT include the merging of audio-visual,
telephone and computer networks through a common cabling system.

Q only (2) Pand Q (8) Neither Pnor Q (4) P only

Qwors !IINI!!II!IHII\|||\|||H\||!|HH|||||HH|HII\H\!||!||||“||H|||H|| ;
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17.

18.

19.

20.

am forga GoE B Semnfed wers W' e vatervr-feadt warem ¥, fwent forad sui o s €2
(a) ¥&H dIveh & &9 H Hfu

(b) sSR qfH & faske o

() 9y 3R a1 uror WLnet |

(d) Zesamd

= fST T e ¥ 9 Wl W AT

(1) e (b), () ¥R (d) (2) FA (a), () ¥R (d)
3) (@) (), (0) 3 (d) (4) A (a), (b) 3 (d)

I § ATReR—ohivgd geme § frefaiaa § 9§ it s € 2

(a) TN ARl S W& SR IR A

(b) A SR el 1 STgvTelt st

(c) IRl o STfuehRl IR Fdedl o SN H STTEhRdl

(d) gensii o faQ Rt & STl 1 ANE

1= fou T e § ¥ W W 0 g

(1) < (a), (b) 3 (o) (2) 9 (a), (b) 3R (d)
(3) he (a) R (b) 4) (@) (), () R (d)

fawa § wia =1 faemean 3= fovan yomett fomm e & @1g ot 2
(a) EYH T SFAHH (b)  sTeferan

() == d) FEeS faven (IF.)
= fau T e F  WE W F A

(1) e (a), (b) 3R () (2) E (a), () 3 (d)
(3) e (a) ¥R (o) 4) (), (b), (c) ¥R (d)

FI JH % aR H frafafad # | S/ SR wUF 9@ /8 2

P: < el FER (ROM) ‘afciesd’ HHk 1

Q: TSH TR TERI (RAM) ‘dfciesd’ HHRT B 1

R: Ul BER] ‘Sicerd’ 79k T

(1) %I Q (2) FEAPARQ (3) Had PIARR (4) <HaA P

.3, v Ug & 9N H f=fafed § 9 Siar/«ed FoF 98 §/8 2

P: ST Yermerdt AW T, e qu W e Faiiea SHatst € |

Q: MEHLA F iqia A gRomdt wraftrent wftmfed € o siaia g=9-39, QI 3R FgX
(TTTUTR) eerh Teh W1 FHM hefel Jolel §RI Gaifsd fohe S 1

(1) aa Q 2) P3RQ (3) AWPARTEQ (4) e P

cwos [{IILMININNINNT
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22.

23.

In the two sets given below Set - I indicates methods of teaching while Set - II provides the
basic requirements for success/effectiveness. Match the two sets and indicate your answer
by choosing from the code :

Set -1 Set - II

(Method of teaching) (Basic requirements for success/effectiveness)
(a) Lecturing (i)  Small step presentation with feedback provided
(b)  Discussion in groups (i) Production of large number of ideas
(c) Brainstorming (iii) Content delivery in a lucid language
(d) Programmed Instructional (iv) Use of teaching-aids

procedure

(v)  Theme based interaction among participants

Code

@ ®) © (@
1) @ @) @) W
@ () ) @ 0
@) v @ @6 )
@ O @ @ @)

In which of the following activities, potential for nurturing creative and critical thinking is
relatively greater ?

(1) Presenting a seminar paper (2) Participation in research conference

(3) Participation in a workshop (4) Preparing research summary

Which of the following set of statements best describes the nature and objectives of teaching ?
Indicate your answer by selecting from the code.

a) Teaching and learning are integrally related.

b) There is no difference between teaching and training.

(
(
(c) Concern of all teaching is to ensure some kind of transformation in students.
(d) All good teaching is formal in nature.

(e) A teacher is a senior person.

(f)  Teaching is a social act whereas learning is a personal act.

Code :

M) O, @Qad@E @ @  ad® @) @) @and@ @) (@) ®) and(d)

cwos [{IIFINMINNNINT =



21. o feu o < gyl H wger - 1H faao fafar € ot i ¥ Sofe agea - 1A 9w/
AT S ot STHEE & T € | 39 1 9g=ai i Gferd sifee iR e feu e §e o § o1
Wﬁlﬁﬂﬁﬁz

=T - 1 e - 11

( Toregor fafer) ( AT/ THTETEehaT ol JoT Savaehad )
(a) AN Sl (i) wfagfte dfed o vl § w&gfd
(b) GRlH == (i) =< Hem H four &l u&ga wE
(c) Tommuerm ufshan (iii) T AN H fAoHerE] 1 TEEO
(d) fshfid eaeA =t 9sfd (iv) Toreror-3usheel w1 39Em

(v) Wfaeiel § yertor-enenfia wrfert

<< :

@@ () (o (d
1) @) (@) (@) (V)
2) @) (v) @ @
3) (v) (@) (@) (i)
4) @@ (@) () (i)

22, fr=Afafea § 9 fora framremy § gemfiar oI aitercrs foaa & G st 31 e § 2
(1) TSt § 9N o &l YR HT (2) I T H vrier
(3) hrTe H HrfieR (4) Y FA Bl TIX HEAT

23. TreAfafad § @ S & a=a e ot yaia iR 389 &1 399 & § foeron yqd i 7 2
T feu T e H ¥ T W A AT
(a) Toreror iR erfermm sifafese w9 @ Heiftm €1
(b) foreror 3R gftreror & e &g S 7 B
() THE fHeqor 1 TR B H $ YR & TG0 1 YA FH F 2 €|
(d) T 37=s1 fero yepfd § siro=niiss B 2 |
(e) Toers T aftss =afem dran 71
() Torero T wrifSe Fed §, Safer siferm ua SAfama F 7
<< :

M B O©IE @ @ @FWH @ @ @FWEH @) () O

Q-00018 11 P.T.O.




24. There are two sets given below. Set - I specifies the types of research, while Set - II indicates
their characteristics. Match the two and give your answer by selecting the appropriate code.

Set -1
(Research types)

Set - II

(Characteristics)

(a) Fundamental research (i) Finding out the extent of perceived impact of an
intervention

(b) Applied research (i) Developing an effective explanation through theory
building

(c)  Action research (iii) Improving an existing situation through use of
interventions

(d) Evaluative research (iv) Exploring the possibility of a theory for use in various
situations

(v)  Enriching technological resources
Code :
(@ () () (d)

1) (v) (v) (D) (i)

2 @ @ @) (@)

@) @ @) @) (v)

4 @@ (@v) (@) @)

25. The problem of ‘research ethics” is concerned with which aspect of research activities ?

1)
(2)
®)
4)

Data analysis through qualitative or quantitative techniques
Defining the population of research
Evidence based research reporting

Following the prescribed format of a thesis

26. Which of the following sequences of research steps is nearer to scientific method ?

1)

Perceiving the problem situation, Locating the actual problem and its definition,
Hypothesizing, Deducing the consequences of the suggested solution and Testing the
hypothesis in action.

Defining a problem, Identifying the causes of the problem, Defining a population,
Drawing a sample, Collecting data and Analysing results.

Identifying the causal factors, Defining the problem, Developing a hypothesis, Selecting
a sample, Collecting data and arriving at generalizations and Conclusions.

Suggested solution of the problem, Deducing the consequences of the solution, Perceiving
the problem situation, Location of the difficulty and testing the solutions.
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24.

25.

26.

e & g feu e ¥ | wee - 18 9y % wehR feu T €, St weee - 1 H St feand
AT &1 T § 1 9 <1 bl GHfAd Sitee AR ST e 1 9 L STTT I ol AT

T - 1 = - 11

(e % YHR) ( fagremTd )

Hiferr WY (i) T H STIT TS HI U T

SerRd I (i) Tagid v & w1 9 gHEaes S o T wE
[ERICEIIC] (iii) TEIEY o ITAN o AW § Yafed feufd § gur A
Tedisha- Tk WY (iv) fafvs feafdl § s & fau fagia 6t gaead s @St

HET
(v) Wifafess SEreEl sl Jgg H

@@ () () (d)
(v) (v) (D) (i)
O @) @) @)
(i) () (@) (V)
i) () (@) @

‘vl faeran’ T TEE Iy foRATeRadl % foRd T ¥ Hefyd § 2

1)
(2)
(3)
(4)

TUIcHeh A1 HIATHS Tehiehi o HILIH ¥ SThel o faveiu 9
Y o Y 61 GREIYT o 9

e e Rafén |

Ty gag & FHiRa Ied & STgeT 9

Ty 9e o Trefafed § 9 -9 A S fafy & feesy &2

(1)

e ot eufd &l STIYA T, TRl TR T TG SR TR TRTHT, TReEATHHT i,
TEATTad FHTE o GRSt fifHa s 3R aRehea T o1 &l €9 § e |

TS Sl YRGS, TS & FRON i Ygd™ hHl, U I YRUTHT HAT, qfagst &
=T, STkl T GULY IR IR A1 forgersor & |

V- HcTeh ekl Shi TS hiAl, FHE hl TR AT, TRepea 1 M1, gfaeel 1 ==,
MRS T GG IR HHTIRTO qe Fshst T Ig=mT |

AT S G FHTHH, FHTHM o GRUMHI bl TG R, T i feeafd ol STaa &,
HSTE I TN 3T THILM T T |
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27.

28.

29.

30.

Which of the sets of activities best indicate the cyclic nature of action research strategy ?
(1) Observe, Act, Reflect, Plan
(2) Act, Plan, Observe, Reflect
(3) Plan, Act, Observe, Reflect
(4) Reflect, Observe, Plan, Act

Which of the following learner characteristics is highly related to effectiveness of teaching ?
(1) Educational status of the parents of the learner

(2) Peer groups of the learner
(3) Family size from which the learner comes.
(4) Prior experience of the learner

From the list of evaluation procedures given below identify those which will be called ‘formative
evaluation’. Indicate your answer by choosing from the code :

(a) A teacher awards grades to students after having transacted the course work.

(b) During interaction with students in the classroom, the teacher provides corrective
feedback.

(c) The teacher gives marks to students on a unit test.
(d) The teacher clarifies the doubts of students in the class itself.

(e) The overall performance of a students is reported to parents at every three months
interval.

(f)  The learner’s motivation is raised by the teacher through a question-answer session.
Code :
(1) (b), (9and (d) (2) (a) (c)and(e) (3) (b) (d)and () (4) (a) (b)and(c)

Assertion (A) : All teaching should aim at ensuring learning.

Reason (R) : All learning results from teaching.

Choose the correct answer from the following code :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.
4)

4) Both (A) and (R) are true, and (R) is the correct explanation of (A).
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27.

28.

29.

30.

foRaeshaTdl o ffafad Tyl § S 9= fhars v WG ot Fehtd Wi i ST
€7

(1) Y& s, franfafa, e feiad e, e

2

fepenf-afa, fasH, 101 e, e fead e

()
(3) TrEsm, forenfafa, Geror s, e foaa s
(4)

4) A feaa e, Yeror e, fEeE, fRenfata

HAferreehat w1 frfafed § @ e forivar fraror 1 g9eicakesa § id ®9 9 Hefud 8 2
(1) et & Afaurashi w1 Sk TR

(2) STfeTHeRal < Wit g

(3) URER 1 TR, Toweht SAferHehdl T 31§

(4) SAETHS 1 Ge-I9E

= § T geaien ufshansll # | 3Tt wgaH wifaw, fge  futorees qeie’ weE s g1 A
QU 7T Fe T TAN A T T IW hl AT :

(a) TRrereh UrSUshT 1 & U HA F A1 B B IS @ T

(b) Torer hen & B % Wy Sia.foran & <RE GuRIeTs gfqyfe YoM #a S
(c) Torerh SohrE Tdteror § STE I 37k AT B |

(d) Torerw when ¥ & BT %GRl B T FHIAT |

(

(

e) B % T FoAeT & IR H gk 1F HIE o Haue R Tfyameen w1 KU foran s 7
f) Toers Y-SR 9 o ey | sAfermeedt s eAfaiRon | gfg R S

1) @I 2 @ ©3IE @) O @dIAEH @) (), (b) I ()

USRI (A) :  THE T&T01 1 ITA SITUH Sl AT HEAT SHT AT
& (R) : T STferrs fReqor w1 qRom S B

9 feu T Fe H ¥ W I g

(1) (A) T (R) SHl W&l €, Wleh (R), (A) it W& =re T 2

2) (A) T g, AfhA (R) Tord 7|

(3) (A)TTerd &, Wfehd (R) Wl |

4) (A) T (R) S T& E, 3R (R), (A) F TE A T
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Read the following passage carefully and answer questions from 31 to 35 :

If India has to develop her internal strengths, the nation has to focus on the technological
imperatives, keeping in mind three dynamic dimensions : the people, the overall economy and the
strategic interests. These technological imperatives also take into account a ‘“fourth” dimension,
time, an offshoot of modern day dynamism in business, trade, and technology that leads to
continually shifting targets. We believe that technological strengths are especially crucial in dealing
with this fourth dimension underlying continuous change in the aspirations of the people, the
economy in the global context, and the strategic interests. The progress of technology lies at the
heart of human history. Technological strengths are the key to creating more productive employment
in an increasingly competitive market place and to continually upgrade human skills. Without a
pervasive use of technologies, we cannot achieve overall development of our people in the years to
come. The direct linkages of technology to the nation’s strategic strengths are becoming more and
more clear, especially since 1990s. India’s own strength in a number of core areas still puts it in a
position of reasonable strength in geo-political context. Any nation aspiring to become a developed
one needs to have strengths in various strategic technologies and also the ability to continually
upgrade them through its own creative strengths. For people-oriented actions as well, whether for
the creation of large scale productive employment or for ensuring nutritional and health security
for people, or for better living conditions, technology is the only vital input. The absence of greater
technological impetus could lead to lower productivity and wastage of precious natural resources.
Activities with low productivity or low value addition, in the final analysis hurt the poorest most.
The technological imperatives to lift our people to a new life, and to a life they are entitled to is
important. India, aspiring to become a major economic power in terms of trade and increase in
GDP, cannot succeed on the strength of turnkey projects designed and built abroad or only through
large-scale imports of plant machinery, equipment and know how. Even while being alive to the
short-term realities, medium and long-term strategies to develop core technological strengths within
our industry are vital for envisioning a developed India.

31. Envisioning a developed India requires :
(1) Dependence upon projects designed abroad
(2) Focus on short-term projects
(3) Development of core technological strengths
(4) Aspiration to become a major economic player

32. Absence of technology would lead to :

(a) Less pollution (b) Wastage of precious natural resources
(c) Low value addition (d) Hurting the poorest most

Code :

(1) (b), (c) and (d) only (2) (a), (b) and (d) only

(3) (@), (c) and (d) only (4) (@), (b) and (c) only
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Fr=feafaa ey &t s ¥ ue 3R Wy WEAm 31 | 35 deh o SUY S

Ife qRA I AT idfier ferarl foaenfaa wEt 8 a1 39 diF Tifasitel =l - Siar, gaion
srefezrae SR M fedl &l &9 H W gu Wil STavasioiadiel W e Higd e el 3
FrENfiTehia STervgehtoiea Teh =9 oM’ g7, I ot e TEdl § Sl SFedd, SA9R Ue Graliieht ol
3y Tfaeiiara & f7:90 €, IR St RO s el i 3TR SRR dl ¥ 1 §9RI 98 AT © fo 30 =)
3 & Hed H ST ki efremiened H R &1 W uftad, afvees desl # refeermen qen wmites A 9l
fea % uftea o drenfires st o &9 9 Heeyul €| od sfaerd % go § greifies faema smmn
¥ SR THH STAM aedt gfawuyt o aeR H WenfTeRr wfaar sifus Scaes ISR S e qen
HTe-ShITTel oh! STEAA ST T i gfte § Weequl § | Jreifiishal o sardeh STUarT & o g1 o1 el
A H ST T o HEATo7 forhTel TE Y Wehd | ¥ i WG Wkl o W1 FeIal Herand ok &9
Y 1990 % TWH % 918 ¥ Al o B S W T HhE qoA FAIAA | WH IR A1 VR IEh
o-Teiaeh dey § Feiifea wifea ot feafa o Tt €1 T fashiaa <91 94 o eTehialt TRl off <o o fag
fafvm wmfte denfrfea § wfs-gw= 2 iR @ &t g afgadl & oerm ¥ 3% Fia o
FA A Ht gmed off T T S-S wEf % fed ot TR faera TR W S SR 6
G B A1 ST Y 9 T TEreed Heielt greq ghfved wE @ A f Sem 2 s dea feafaar & -
T gftedl @ drenfirht T Hewrul ST ¥ 1 Wit W e iy 5 i eruffa ¥ e wlia
SeTGeRAl 3R eI i STl it gt o1 91 Jed & wehdl 71 1 wRia seeewar a1 e
T Joa-HadT ¥ TS foramshard siaa: o1edd Te il i Herd SAf¥eh i Ugard § | SART ST 1 Uk
T e qe T 3R 9% Siad YeM w1, 9 T 9% TR €, 39 9N B WRifTa STavaeRiviaan
mEcqUl ¥ 1 AR iR SEL W, § gfg #i gfe 9 w5t snfeder wifaa 2 o emmemiaht wRa forw # feseA

it TR SR fafdq ‘ot ufEset @t wied a1 Fae o TR, SUR 3R aeie! IF % 9d W
TR T B Tehal | TcTehiicreh Feell T &AM <d T TAN AN H HLAH T Sreehiferen WOHIaAl Rl
Uit Wil I faenfaa e faefaa wRa &l hed T &l |ehR w & o) Teaqul €1

31. foofad YA &1 Fe91 ol THR H & AU A6 ©
(1) T H R =t 78 s X s
(2) TEeIfeTeh URESHIST W & higd S
(3) Hehf=eh Urenfirenta wfer 1 forenrd
(4) U@ i Wl o St STRIET

32. WrRENfTeR! ot erqufefa § foaert At gere & ?

(a) HH TGE (b) HeIAM Wihfash Tl it sefer

(c) T wia qea-gada (d) A TS ANl I Y SATYH JRAH
Eﬁ‘ :

(1) e (b), () ¥R (d) (2) A (a), (b) 3 (d)

(3) A (a), (c) ¥R (d) (4) A (a), (b) 3 (o)
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33.

34.

35.

36.

37.

38.

The advantage of technological inputs would result in :
(1) Importing plant machinery

(2) Sidelining environmental issues

(3) Lifting our people to a life of dignity

(4) Unbridled technological growth

According to the above passage, which of the following are indicative of the fourth
dimension ?

(a) Aspirations of people (b) Modern day dynamism
(c) Economy in the global context  (d) Strategic interests

Code :

(1) (b), (c) and (d) only (2) (a), (c) and (d) only

(3) (a), (b) and (d) only (4) (a), (b) and (c) only

More productive employment demands :
(1) Limiting competitive market place
(2) Geo-political considerations

(3) Large industries

(4) Pervasive use of technology

Introducing Rakesh to her husband a women said, “His brothet’s father is the only son of my
grandfather”. The woman is related to Rakesh as :
(1) Mother (2) Sister (3) Daughter (4) Aunt

Which of the following set of statements is correct for describing the human communication
process ?

(a) Non-verbal communication can stimulate ideas.

(b) Communication is a learnt ability.

(c) Communication is not a universal panacea.

(d) Communication cannot break-down.

() More communication means more effective learning by students.

(

f)  Value of what is learnt through classroom communication is not an issue for students.
Code

(1) (b), (d), (e) and (f) (2)  (a), (b), (c) and (d)

(3) (@) (d), () and (f) (4) (@) (c) (e) and (f)

Assertion (A) : The initial messages to students in the classroom by a teacher need not be
critical to establish interactions later.

Reason (R) : More control over the communication process means more control over
what the students are learning.

Code

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true, and (R) is the correct explanation of (A).
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33.

34.

35.

36.

37.

38.

TN STATA S ST <1 TfoTe ST

(1) &= AR 1 A

(2) ARl Haiedt eI ol IO A

(3) THR AR ol R Se T TEI
(4) IR denfes d9fs

Y TS % ATER FrAfafed § 9 HF =9 S Sl ST s € 2

(a) SH-3TRTEME (b) YR TfwRier
(c) Afvass uRbed # sreferewen (d) umMfie fea

EF :

(1) e (b), (c) ¥R (d) (2) e (a), () 3R (d)
(3) e (a), (b) 3 (d) (4) % (a), (b) ¥R (0)

31fereh ScTeeh USTTR T e & forg eTewas €
(1) Sfaeagicren TSR 1 SR HfHT ST

2) g-USHIfdR Hra-foam

(3) o =M

(4) TENfiTRt 1 SATUE SFTTER

e Afgen 3 79 9 & TR 1 IR=ra S g e, 59 IS o fodn B S & sl g E 1 I8
TfgeAT T3 hi 1 Tl & 2
(1) e (2) =& 3 T (4) ==

e T gfskan & faero & fod fr=fafea § @ S wom gq==g w8 22
(a) oTmfsger TR foami I 3@ HL TH ¢ |

b) TV T AT &I T |

) TEIYOT Uk HEE S e g

) T Efed TEl B Hehd |

) sIferer Ewor o1 o1k B gRT 3ifereR gre fenm )

f)  THENTA GEU % HIEAH | HRE U R od B o T Hgwequl 7e g |

(1) (), (d), () 3 (f) 2) (@), (b), (c) ¥R (d)
3) (@) (d), (e) 3 (f) 4 (@), (@) (e) 3 (f)

AR (A) :  orerer g1 el ® B 1 foU U SRRy GRS W § 31 foRan wenfud A &
o weul 1 st T T

e (R) : FEOT Yishal W sT9etRa Aty fraEon 1 ffeaed B gr Aftnm W edansga
Fifeer Frior 2

<

(1) (A) W& (R) S 9@t €, Afw (R), (A) &t =amen =& 8|

2) (A) & T, AfRA (R) T g |

(3) (A) e B, &fhA (R) Tl

(4) (A)TE (R) IH F& &, 31 (R), (A) FF T ARAT T |
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39.

40.

41.

42.

43.

44.

Q-00018 ’"“"H“’"H

Which one among the following is a presupposition in inductive reasoning ?
(1) Unchangeability in nature (2) Harmony in nature
(3)  Uniformity of nature (4) Law of identity

The next term in the series

ABD, DGK, HMS, MTB, SBL, __ 2, ...

is:

(1) ZCA (2) ZKW (3) KzZU (4) ZKU

Two numbers are in the ratio 2 : 5. If 16 is added to both the numbers, their ratio becomes
1: 2. The numbers are :

(1) 20, 50 2) 28,70 3) 32,80 (4) 16, 40

If the proposition ‘domestic animals are hardly ferocious’ is taken to be false, which of the
following proposition/ propositions can be claimed to be certainly true ? Select the correct
code :

Propositions :

(a) All domestic animals are ferocious.

(b) Most of the domestic animals are ferocious.

(c) No domestic animal is ferocious.

(d) Some domestic animals are non-ferocious.

Code :

(1) () only @ ©@and(@ (3 (b)only (4) (a) and (b)

Assertion (A) : To communicate well in the classroom is a natural ability.

Reason (R) : Effective teaching in the classroom demands knowledge of the
communication process.

Code :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true, and (R) is the correct explanation of (A).

Which one of the following statements is not correct in the context of Venn diagram method ?

(1) It represents both the premises of a syllogism in one diagram.

(2) It requires two overlapping circles for the two premises of a standard-form categorical
syllogism.

(3) It can be used to represent classes as well as propositions.

(4) Itis a method of testing the validity of arguments.
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39.

40.

41.

42.

43.

44.

frrefafad § | HFET SIS e | gd-hfeqd 7 ?

(1) 9hfd ¥ sraftad=rer (2) Yhld H HHIE

(3) Wi =l HHET (4) et % e

@

ABD, DGK, HMS, MTB, SBL,

Tl A & © :

(1) ZCA 2) ZKW 3) KzU (4) ZKU

T Gl i ST 2: 5 | A I TS H 16 ST ST 1 ST STUM 1: 2 7 Sl § | 3 G
g

(1) 20, 50 2) 28,70 3) 32, 80 (4) 16, 40

‘qTeTg UY] E WER B ¥, AfE 38 viaafa w1 e we fomn s €, @ frefated § 9 fmg emem
T/ SR 1Rl o1 Y= 9 | 9 A 1 Qe fohal ST 9kl © 2 W& e 1 =97 ST
MR ST

(a) @t TR IY WER F

(b) SR TeIq IY GER B T |

(c) I ot Urerq Y] TR T B ¥ |

(d) T T 9Y GER T e 2 |

(1) o (a) (2 (o) R (d) (3) e (b) 4 (a) W (b)

AR (A) :  HeT H FIC S Y TGO HIAT Teh TG &Ham |

e (R) : el B gurelt freror & fore oo gishan 61 9 STevEeh ¥
<< :

(1) (A) W& (R) I Wt €, Afpd (R), (A) ! Tl A0 T < |

2) (A) W@ ¥, dferd (R) Terd 71

(3) (A) e B, WfhA (R) Tl T

(4) (A)TE (R) TH T& &, 31 (R), (A) FT T ARAT T |

frrefafed 8 9 o s oF foet fafy & deyf & ot =& €72

1) % T fod § =g ot o ST SR SRl Rl URfid e ¢

(2) 3EH FRUS =" 91 % HHES Y & o YR Sl o T8 0 ST S 9l hi STTerearshdl
eIl ¢ |

(3) THHT T <k ST STER SR 1 TG hid o IT STANT e ST Fehell © |
g T 1 TG F TUETT H T iy |
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45.

46.

47.

48.

49.

50.

Superiority of intellect depends upon its power of concentration on one theme in the same
way as a concave mirror collects all the rays that strike upon it into one point.

What type of reasoning is entailed in the above statement ?
(1) Psychological (2) Analogical (3) Deductive (4) Mathematical

Differentiation between acceptance and non-acceptance of certain stimuli in classroom
communication is the basis of :

(1) selective affiliation to peer groups

(2) selective attention
(3) selective morality
(4) selective expectation of performance

If VARANASI is coded as WCUESGZQ, then the code of KOLKATA will be :
(1) HLZEOOQ (2) ZELHOQO (3) LQOOFZH (4) LOQOZEH

Assertion (A) : Classroom communication is a transactional process.

Reason (R) : A teacher does not operate under the assumption that students’” responses
are purposive.

Select the correct code for your answer :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true, and (R) is the correct explanation of (A).

The next term in the series

-1, 5,15, 29, 2 ..
is:

1) 47 2) 59 3) 63 4) 36

Given below are two premises (A and B). Four conclusions are drawn from them. Select the
code that states validly drawn conclusion(s) (taking the premises individually or jointly).
Premises :

(A) Most of the dancers are physically fit.

(B) Most of the singers are dancers.

Conclusions :

(a) Most of the singers are physically fit.

(b) Most of the dancers are singers.

(c)  Most of the physically fit persons are dancers.

(d) Most of the physically fit persons are singers.

Code :

1) Band(@ @ (@Qand(d) (B) @Dand@ (4 (a) and (b)

-00o0-
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45.

46.

47.

48.

49.

50.

1 ot Ieaa fordt Uens fawa o 9 o STeh! Tehman wifek 92 391 9o fAsit ot € f519 9o shiehd
TdUr 39 W v arelt gt fRll e farg W Hufea s

ST HeH | ford YRR o e fafed § 2

(1) AR (2) HCTHER (3) TS (4) TIIOT

HEINTA T H 5 SEYeh! ohi T 3R sl & =g fadie fhast smem 2
(1) =l TEl < e =S TG

(2) TEAHE M

(3) TIAIEE Afehdl

(4) ToaIET Wi =R SUan

Ifc VARANASI &1 Fe WCUESGZQ %, @ KOLKATA T %e BT :
(1) HLZEOOQ (2) ZELHOQO 3) LQOOFZH (4) LOQOZEH

AR (A) : eI THEU T panfafaert ufsman 71

@ (R) : s ot ek 39 A= o STl i TRl vl foh SEI ot STIfRATT [ Bt
g
A I & forw & e g .

(1) (A) TS (R) S T €, AfFA (R), (A) T &t =men & 2
2) (A) &I g, AdfRA (R) Tod 2|

(3) (A) e B, &fehA (R) W&l

(4) (A)TE (R) THI TR T, 3R (R), (A) i HE =&=AT T

SJE

-1,5,15,29, __?

T ST AT ©

(1) 47 (2) 59 (3) 63 (4) 36

T T TR 9T (A IR B) feu e ¥ 1 38 AR frsnd fehrel T | 39 e v =EE i, Sy
w9 ¥ ffig frepd o1 <iidn § (TuR SRl sl SAfFTd 2R Sge €9 9 o) |

MM AT

(A) AfeRie Fdeh AR €9 § fife ¥ |

(B) ¥R T i € |

frreers

(a) TfereRier T AN &9 § fhe ¥

(b) AR Tk MIF T |

(c) Afermier sRifr &9 | fife =afsd wd® )

(d) sfeerie IR €9 9§ iR =afad e ¥

<< :
(1)
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